Mathematics 9: Focus on Understanding

Unit 6.1 – Transformations on a Cartesian Grid
Extra Worksheet to follow Part A, Pages 6 and 7

1.
Determine the mapping rule that maps ∆ABC onto ∆A′B′C′ for each diagram.
a)







b) 
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d) 
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2.
Draw the image of ∆ABC under the given mapping rule. Check a pair of corresponding points in the mapping rule.
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(x, y) → (x + 3, y – 5)
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b) 









(x, y) → (x + 4, y)
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(x, y) → (x – 4, y – 3)
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2. d)









(x, y) → (x, y + 5)

3.
Each pair of corresponding points is the result of a translation. Write the mapping rule.

	Mapping Notation
	Mapping Rule

	D (4, 7) → D′ (-1, 9)
	

	E (0, 1) → E′ (5, 1)
	

	F (-2, -7) → F′ (6, 0)
	

	G (1, -6) → G′ (2, -2)
	


4.
Determine the missing co-ordinates.
	Mapping Rule
	Mapping Notation

	(x, y) → (x + 1, y – 2)
	H (5, 2) → H′ (     ,      )

	(x, y) →  (x, y + 3)
	J (     ,      ) → J′ (2, 4)

	(x, y) → (x – 5, y + 6)
	K (      , 3) → K′ (4,      )

	(x, y) → (x + 2, y)
	L (-6,      ) → L′ (      , 5)








